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S TG XPBh$ER — 0 | —XPBh$ER — 5 P O HR—0 HR—5
572014.4 %572014.4 %572014.4 %E72014.4 %572014.4 572014.4
Cara A EPA by T T4 TS
R—5 [R-5(1| R—0 [R-0(e| o | BINEUS TR F =2 | F =X | FyoT | FyyT | TTVD | TTUY
w4 % F—1 |F-1(A)| F—2 [F-2(A)| F—=3 |F-3(H)| F—4 |F—4(A)|FL—10{F-10(A9)
1 1,820 % 2,000
17/ 1,900 % 2,090
17/ 2,040 [ 2,240
2 2,100[ 2,310 1,550 1,710 2,650 2,910 1,180] 1,300
21/ 2,430 2,670] 3,000] 3,400] 2,700] 2,980| 2,700| 2,980| 4,200] 4,620| 1,440] 1,590 8,050] 8,360
3 2,680 2,940] 3,430| 3,770 3,620] 3,990| 3,620] 3,990| 5810] 6,390 1,670 1840| 8,680] 9,560
4 4,350 4,780] 4,850 5,330| 5810] 6,390] 5810| 6,390] 8,910] 9,810] 2,990| 3,290 12,010| 13,200
5 6,100| 6,700] 6,800 7,580] 10,290 | 11,330 | 10,180 | 11,200 16,270 | 17,910 4,580 5,040 16,650 18,320
6 6,660 7,330] 8340| 9,180] 14,090 | 15,500 | 13,280 | 14,620 | 21,220 | 23,350 | 6,030 6,620 | 18,550 | 20,400
3 13,820 [%15,200
OR—5 (i - \f& > %) R—0 (&%) MEMEZHERER E D 9, (BEAT T 1,/ 1)
PR PLERPAN by T T AT AV 2 4 2 245
i LY g —H— FEF—x R
— — _ _ — < pis] 7 L
R-11 | ) pes | F5 | L. | F-3 7Y RLY R | ’?l_‘ v b
yix (1) (1) HET2014.4 %572014.4
21/3X 2 4,580 [* 5,040
3X2 4,660 |x 5130 | 1,500 1,640 B 4| Ny TT7I Ly b 3%
3X 21/ 5,130 |* 5650 | 1,500 | 1,640 | 5810 | 6,390 |
4X2 6,610 |x 7,280 | 2,130 | 2,350 | 8910 | 9,810 T—1 |
4X 21/, 7,390 | 8,130 | 2470 [ 2,730 [ 8910 | 9810 | | B e o
4X3 7,740 |x 8510 | 2,930 | 3,230 | 8910 | 9,810 fl X1 T
5X 3 4,200 | 4,620 | 16,220 | 17,840 T /j‘ <1 5490
5X 4 11,910 |%13,110 | 4,720 | 5,190 | 16,220 | 17,840 2 .
2X 1 4,110 | 4,520 38
6 X3 4,600 | 5,060 | 21,160 | 23,280 X1 110 T 2520 =
6 X4 12,830 |% 14,120 | 5,060 | 5,570 | 21,160 | 23,280 511 /f‘ 110 T 2520 0
6 X5 14,750 [% 16,230 | 5980 | 6,580 | 21,160 | 23,280 2 . .
TRV 21/3% 1 4,520 | 4,970 38
_ o 21/6X1Y4 | 4520 | 4,970 51
oo by T TAYTALT 21/,X11/2 | 4520 | 4,970 51
iz FLIOAP | FL10AP 3X 1 5,370 5,910 38
(H) 3X 114 5,370 | 5,910 51
2 7,390 | 8,130 3X 11/ 5,370 | 5,910 51
27/ 9,290 | 10,220 3X2 5,370 | 5,910 64
3 10,030 | 11,030 4X1 5,130 5,650 38
4 13,630 | 15,000 41X 11/ 6,030 | 6,620 51
(B = P17 f) 4X11/2 | 6,030 | 6,620 51
4X2 7,200 | 7,920 64
2~ 44 249 4X 21/, 7,200 | 7,920 70
—RB#E kg a—F 4X3 7,200 | 7,920 89
hy7>a—rh i 5 X 2 7,510 | 8260 | 64
%572014.4 %572014.4 6% 1 7.650 8.420 51
" % FYy 7 T4 975407y 59 —F 6X11/2 7,650 8,420 51
yix Ya MK | Ve b | Ya—bF—X | Ya—hF—X 2‘( X ?/ ;’2(1)8 1%228 %
_ _ _ _ 6X2"/2 s R
. F—1 | F-1(H) | F=3 | F=3(FA) e 9920 | 10:910 9
2"/ 2,590 | 2,850 | 4,020 | 4,420 (A - F7fi)
3 3,470 | 3,820 5,560 | 6,120
4 5,560 | 6,120 | 8,530 | 9,380
(BEh7 < 1/ M)
110 % % wR |
I — THHTFREEZ 7L —
(S)ay 2Tl ) 420ml | 1,550
%572018.8




